
Quest ce que le cadeau  G' - ? ( )Quel nombre se trouve dans chaque cadeau?
2 + 6 = 3 + 6 = 7 + 5 =7 + 5 = 3 + 9 = 5 + 9 =7 + 5 = 2 + 3 = 8 + 9 =5 + 9 = 9 + 5 = 6 + 5 =5 + 2 = 3 + 4 = 9 + 4 =3 + = 12 3 + = 10 7 + = 128 + = 11 4 + = 9 8 + = 173 + = 12 9 + = 12 8 + = 169 + = 13 8 + = 14 4 + = 103 + = 12 9 + = 17 6 + = 12+ 9 = 11 + 2 = 7 + 4 = 11+ 7 = 12 + 4 = 7 + 7 = 9+ 7 = 13 + 8 = 10 + 5 = 12+ 9 = 17 + 8 = 12 + 4 = 12+ 9 = 18 + 2 = 7 + 9 = 16
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Quest ce que le cadeau  G  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
2 + 6 = 8 3 + 6 = 9 7 + 5 = 127 + 5 = 12 3 + 9 = 12 5 + 9 = 147 + 5 = 12 2 + 3 = 5 8 + 9 = 175 + 9 = 14 9 + 5 = 14 6 + 5 = 115 + 2 = 7 3 + 4 = 7 9 + 4 = 133 + 9 = 12 3 + 7 = 10 7 + 5 = 128 + 3 = 11 4 + 5 = 9 8 + 9 = 173 + 9 = 12 9 + 3 = 12 8 + 8 = 169 + 4 = 13 8 + 6 = 14 4 + 6 = 103 + 9 = 12 9 + 8 = 17 6 + 6 = 122 + 9 = 11 5 + 2 = 7 7 + 4 = 115 + 7 = 12 3 + 4 = 7 2 + 7 = 96 + 7 = 13 2 + 8 = 10 7 + 5 = 128 + 9 = 17 4 + 8 = 12 8 + 4 = 129 + 9 = 18 5 + 2 = 7 7 + 9 = 16
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